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Aptitude Test
Paper 11 .
[Marks = 200

and made mcreasingly difficult:

Duration : 2 Hours|
Dircelions (Question Nos. 1 to §) &

Rend the following passage
and answer the questions that
follow :

When Waltar Haskett Smith
arrived in Wasdnle Head in the
summer of 1881, he had no plans
to climb mountain peaks. Yet, this
Oxford student's stay at Wasdale
Head marked the birth of British
rock climbing. With the help of
vetaran mountaineer FH Bowring,
Smith tackled the amphitheatre of
crags that surrounds Waste Water

with an enthusiasm which he
communicated to others through

his example and writings.

Owvar the next few vears, Haskett
Smith returned to Wasdale Head
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glimba, Then in 1886 he put
British rock climbing firmly on the
map when, wearing his usunal
nailed boots, he climbed Great
Gable to the baze of a sheer pillar
ns Napes Needle. After inching his
wny-u]] n ernck in the rock, he then,

Mfeeling az small az a mouse

climbing a2 milestone’, scaled the

boulder eapping the pillar.

Encouraged by his daring,
climbers who had ence confined
themselves to gullios and chimnoeys
started to enjoy the challenge of
exposed rocks and pinnacles. Fifty
years later, at the age of 76, Srath
repeated hie historie elimb bafore
an audience of three hundred
elimbers. .



Which of the following i3 a correct
statement T

[A) Climbers were inspired only
by Walter Smith's writings.

(B) Walter Smith was an active
elimber and writer.

(C) Walter Smith gave many
loctures on mountain
elimbing.

(D) Smith gave up mountain
climbing at the age of ffty.

Why does the author use the

phrase ‘mouse climbing a

milestone” ?

{A) To refer to a mouse ﬁ-::ing up
a mountain

(B} T¢ indicate the distance in
miles

(C} To compare the size between

himself and the mountain

(M To refor to the immensity of
the l:limhing. activity
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The most approprinte heading for
the passage would be ;

(A} The Execitement of Rock
Climbing

(B) Walter Smith and his
writings

{C) The Historic Napes Neadle
Climb

(D) The Pioneer of Roek Climbing |
in Britan

Which of the following can be

deduced from the passagoe 7

(A) Smith soon lost interest in
rock climbing nnd switched to
writing

(B) Smith retained his passion for
climbing over the years

(C)  Walter first startod climbing
without any guidance

() The sport was well
established when Walter

started elimbing
Rock climbing can be described
as |

(A) emsy and without any
dangers

(B) an adventure activity

(C} highly dangerous and
- b

(D}  an activity only for the youth



Directions (Question Nos. 8 to 10) :

Read the following passage
and answer the questions that

follow i

The indigenous cultures of
Australia are the oldost living
cultural history in tho world-—thaey
go back at least 50,000 years and
some argue closer to 65,000 years.
One of the reasons Aboriginal
cultures have survived for 40 long
is their ability to adapt and change
owar time. In Australia, Indigenous
communitics keep their cultural
heritage alive by passing their
knowledge, aris, -ﬂ.’t-hu.lﬂ and
parformances from one genoration
to another, speaking and teaching
languages, protecting cultural
materials, sacred and significant
sites nnd objects,

Land is fundamentsl to the well-
being of aboriginal people. The

land is not just soil or rocks or
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minerals, but o wholo onvironmunt
that sustains and s sustnined by
people and eulture, For indigenous
Anstralians, the land is the core
of all spirituality and this
relationship and the spirit of
‘country’ is central to the issues
that are important to indigenous
Indigenous

today.
knowledge of the land is linked to

poople

thele excoptional tracking skills
based on their hunter and gatherer
life. This includes the ability to
erack down animals, to identify
and locate edible plants, to find

gpurces of water and fish.

The chief characteristic of
Aboriginal cultures can be
described as -

(A} having become extinct
(B) rigid and inflexible
{C) adaptable and Nexible

(D} modern and homogenous



By “fundamental to well-being’, the
author mweans :

(A} being wealthy, with many
POSSEESIONS

(B} the basics of a healthy life

(C} knowledge about health and
life

(D) essential to their concept of
happiness

It may be inferred from the

passage that aboriginal culture :

{A) has not survived to the
present day

(B} iz passed on over many
penerations

{C} is mainly about mueic and
dance

(D) is restricted to a few members
of the community

Aboriginal cultures are of interest
to us becauso of their :

(A} ancientness and history
(B} tracking ability
{C) ability to loeate food

{(IN rituals and customs
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The word that rovoals the
importance of land lo indigenous

pommunitiag is
(A) Spiritualty
(B) Core

() Environment

(L) Isdues

Directions (Question Nos. 11 to 15)

L1,

Each sentence below has two
blanks and is followed h;.rl four
seta of words. Choose the set
of words that best fills in the
blanks :

The perpetual eyele of change
which has . s the
face of the Earth, with all its
rugged and fas-:iﬁating variety,

usually happens Bo0 ...
to be noticed.

(AY created; slowly
(B) distorted; nicely
() twisted; lightly

(D) emerged; frantically



12,  Todinm Weters, womme s the | 14, The meeting peint of cultures

language they write in, have 88 | i, literature, art,
YT || TOTp—_ L msic or TIm I8 .o
have differences. ground for cross hybridisation of
(A} which; diversity ideas and thought.
{B) whatever; common {A} acrosa; hard
(G} describing; similar ! (B) from; cooperative
(D) mnarrating; likes {C) into; chill

13. Comparative Literature is afan (D) through, fertile
"""""""""""""" subject for students 15.  Writing from around the world

 interested i t '
who are interested in the study of P e A OO A |

literature, but do not wizsh to i - .
essential universality of the

human condition in Lerms

a single national tradition. 3
ol A and ideas.

{A)} optional; minimised
(A) creating; words

(B) ideal; constrained
(B) emphasise; feeling

() difficult; set
() know; singing

(M) tediows; removed

| (D) telling; moods
85 ¢ 1IAPI02—A 10
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: i

18.

Look at this series : 3,4, 7, &, 11,
2 L . Whal number should

come next ?
(A) 7

(B) 10

() 14

() 156

Look at this series : 8, 22, 8, 28,
- AR AT . What number should
come next 7

(A) 9

(B) 29

({C) 32

() 34

Look at-this series : 31, 20, 24, 22,

LT, it pessssberebuicesie’s TWhiat frumber

ghould come next 7
(A) 14
(B} 13
() 13

(D) 12

S8 @ 1LAPVOE—A
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20.

(A

Look at this series : 1.5, 2.3, 3.1,

B0 i « What number

gshould come next ?

(A) 4.2

By 44

(W 4.7

Dy 5.1

“Yard’ iz to ‘inch’ as ‘guart’ is

eallon

(B ounce

(C)

milk
(D) liguid

‘Elated’ is to ‘despondent’ as
‘erilightened’ 15 50, tuimcmsiinns
Aware

(A)

(B} Ignorant

(C) Miserable

DN  Tolerant
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23.

24,

‘Careful’ is to ‘tautious’ as hoastful’
IR A cssiisisss v sy

(A} Arrogant

{B) Humble

{C) Joyful

(I} Buspicious

‘Pen’ iz to ‘poet’ as 'needle’ is
(A} Thread

(B} Button

(G
{D)
Find the number of trianglez in the

Hewing

Tailor

given figure :

/N

Ay 12
(B} 18
(Ch 22
(I 26

55 ¢ 1T(PR02—A
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26,

Find the number of triangles in the

given [igure :

(A) 18
(B) 13
(C) o

(m 7

Pointing to a persom, Raju =aid,
“His only brother is the father of
my daughter's father”, How is the

person telated to Raju 7
(A) Father
(B} Grandfather
{C) Uncle

(D) Brother-in-law



Painting to & girl Ramekant said,
“he is the daughter of the only
gister of my father.,” How i3
Ramakant related to the girl ¥

(A} Uncle

(B) Cougin

() Father

: () Gramdfather

Balaji said, “Thik girl is the wife
of the grandsen of my mother”
How is Balaji related to the
girl 7

{A) Brother

(Bl Grandfather

{ﬂ}. Hushanid

(1 Father-in-law

Directions (Q. Nos. 20 to 31) : In each

gquestion a statement is given
followed by two assumplions
numbered I and II, You have
to consider the statement nnd
the following assumplions
and decide which of the
assumptions is implicit in the

statement.

85 : 11APYO2—A
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Statement : It is desirnbloe to put
the child in school at the age of

3 or so.

Assumptions :

[ : At that age the child reaches
appropriate  lovel  of
development and is ready to
bearn.

11 : The schools do not admit
children after six years of age.

Mark answer :

{A) Only assumption I iz implicit
(B)  Only assumption 11 is implicit
() Either I or II is implicit

(D) Neither 1 nor Il is implicit
Statement : Unomploymont
allowance should be given to all
unemployed Indiun youths above

18 years of age.
Assumptions :

I: There are unemployed
youths in Indin wha nead

monetary support

11t The government has
sulficient funde to provide
allowance Lo all unemployed
youths,

Mark answer :

(A} Only nssumption I is implicit
(B) Only azsumption IT is implicit
() Either 1 or I1 is implieit
i MNeither | nor 11 is implicit



Siatement : Films have becoms |

indinpensable for the

entartainment of people,

Assumptions :

1 : Films are the only media of
entertainment.

11 : People eénjoy films.
Mark answer :

(A) Only assumption 1 is implicit |

(B) Only assumption Il is tmplicit
(C) Either T or 1T is implicit
(D) Neither I nor I is implicit
Find the noxt two lotters of the
following: seres |

O.T. T, F, F. 8, coivccnsriasmmscs ,
A) 8N

B) S8 E

) 8T

M 80

Find thoe next letter of the following

EETIES |
J,F, M, A M, J, d; iccornsmnanans
@A) J
B) A
© s
i O

88 : 1L(PY02—A
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34,

How many sevens are there in tha
following numbaer series which are
proceded by an odd number and
followed by an even mumber ¥

3745796731739783
769715672

(A) B
B) 5
(c) 3
m 4

When Rajesh was learning to
drive, he couldn't imagine how he
would ever remember to stesr the
wheel, flip on the tum signal, step
on the gas pedal, and still manage
to keep the car on the road. Now
that he has been driving for three
vears, Rajesh’s reactions have
became 20 automatic that, when he

UNCOTECIOUS:
convergent thinking
gubconscions

divergent thinking



36, Famla ond Leena cannot figure ’

55

out how to fit their clothes,
furniture, compulors and a
refrigorator into their emall dorm
ream. Jugt when it scoms hopeloss,
Leena says, “Aha, Tve got it!” She
begins moving the ltsms around
untll they At perfectly. Loona's
wadden revolation in most likely
dus to !

(A) clues that triggered non-
conscious processing about
the room arrangement,
followed by conacious
AWarEnnas af the solution.

(B) simplifying the process by
imagining a prototype of &
dorm reom, then makisg a
docision based on that
protoelype.

subcanmeious processing and
automatic routines that
Leena hag learned so well
that she can perform them
without thinking

beginning the task in a state
of mindlegsnoss, then
directing her conscious
thinking to the task at hand.

()

1 1IPVO2—A

20

38,

A production oxeculive, using
deductive reanoning a8 an
spproach ta solving production
problems, concludes that thare ia
only one corroct alution to overy
problom. The flaw in his roasoning

iz that :

(A) it allows his mansgers to find
thalr own answers,

(B) clear aolutlons Lo
manufncturing problemp arm
rare.

() it dloesn't allow for dinlectical
rFeaROnInE.

(D) it relios too heavily ea what

hae proved effoctive in the
paasl.
Roflective judgment requires an
ability to think eritically about
everyday problems and be
propared o :
{A) stand up for what you
balieve.

reassens conclusions in the
light of now information.

discover that there iz no geod
an angwer for anything in
fifie.

reflect on what is presonted,
ark questions, and search of
that single correct answer
that is “out thero.”

(B)

(c

()



Paul thinks of himself as an
excellent negotiator
purchasing a brand new car, Twe
months later, hiz brothar-in-law
Golu purchases the same model for
Rs. 1,000 less than Paul paid.
According to cognitive dissonance
theory, Paul will probably :

(A} decide that he is not as good

as he thought at negotisting

the price of a car,

(B) ask Golu to come along the

next time he purchazes a car.

(C)  toll himself he's glad he haa

had his now car for these tweo
mohths, even though prices
dropped later

(N begin to dislike his new car,
noticing little defects that

bother him.

55 1 11(PyO2—=A
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41,

Which ono of the following

statements about the G factor is

frug 7

(A) G lactor is a statistical
methed for evaluating
aptitude tost scores,

{B) There in a groat deal of
dispute among paychologists
about the exiztence of G
factor or general intellectual
ability shared by all humans,
G factor is Lhe broad term for
moasurement of montal
ability

G factor was used by Alfred
Binet to determine & child's
mental age (MAL

Rehan, o psychologist, is concerned
pbout his client Janki who is
pcheduled to take an advanced
math test. It seems Janki is
convinced that men have bettor
mathematical minds than women.
Rehans concern is that this will
hinder Janki's ability to perform
weoll on the malh oexam. What is
this called ?

(A)
(B}
[[#]
(I3

(C)

Test anxioty
Gender dissonnnos
Gonder bins
Stereotypo throat



42,

{B)

' Baburam, p successful saleaman

knowe oxactly what to gny to his
customers to make them feel at
eagse. He reads each unique
situation and responds
appropriately. Clearly, Baburam
possesses a highly developed

(C)
()

When Wolfgang Kohler put
tempting bananas out of the reach
of chimpanzees, he found that .

(A) the apes often zat quietly at
first, then seomed to have a
sudden ingight into a selution

the apes
impressive gymnastie
manpuvers lo get the
bananas, but did not know
how {0 use tools

many of the apes showed
humanlike emotions, and
nome oven demonstrated

performed

o

near-human cognitive
ahilities
(D}  almost all of the apes seemod

to have sudden insights inte
a eolution, followed by
pozitive action

83 : 11IAPVI2—A
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4.

46,

Cognilive ethologists agree that

animals'  Intelligence i

demonstrated in their ability to

anticipate future svents, make

choices and plans, then :

{A) respond to reinforcement

(B} avoid dangerous situations

(C) act on their environment to
Eain rewnrds

(D) coordinate activities

Interpersonal communication

helps one :

{A} to know what others are

thinking

(B) learn about onesell

() to become talented public
rpenker

(M communicate with the

general public
In the communiention process to
encofde means :

(A} DBlock a pathway between the
pender and receiver of a
message

(B) Speak to large groups of
people

{(C) Interpret a code .

(D} Translate ideas into a code
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A message is a signnl that zerves
ag 7
(A)
(B)

Stimuli for a receiver
Stimuli for mass audience
(C) Noise reduction

(D Stimuli for a spealor
Fovdback onn como in the form
of | '
{A)
{B)
{C)

Vorbal communication only
Environmental noise
Vérbal and non-verbal
histener responses

() Non-verbal communication
only

If promothing s said in error, it
be that
interpersonal communication is
(A} Irreverzible

(B} Reversible

(C) Forgettable

(D) Porgvable

A message can only be deemed
effoctive when it 1s ;

(A

st undoratond

understanding

Understood by others and
produees the intended resalts
Delivered with confidence

Communicated facs to faco

(1)

)
(LX)
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Repeated back as proofl of
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8l.

A father said to his son, “T was as

old as you are at the present at
the time of your birth,” If the
father's age is 38 years now, the
son's age 5 years back was :

(A) 14
(B) 1%
(Cy 38
() 38

A is 2 years older than B who is
twice as old as . If the total of
the ages of A, B and C is 27, how
old is B 7

(A 7
By 8

ic) 9
(I 10

Sachin is younger than Rahul by
T wears, If their ages are in the
respeclive ratio of 7 @ 9, how ald
is Soclun 7

(A) 16
(B) 18
(C) 28
(D} 24.5



64. The present ages of three persons
are in proportions 4 : 7 : 9. Eight
vears ago, the sum of their ages
was 5H6. Find their present ages
{in years):

(A) B, 20, 28

(B} 18, 28, 36

(G} 20, 35, 45

(D) None of the above

65. Bix friends are sitting in a circle
and are facing the centre of the
circle. Deepa is between Pralkash
and Pankaj. Priti is between
Mukesh and Lalit. Prakash and
Mukesh are opposite to each other.
Who is just right to Pankaj 7
(A} Deepa
(B) Lalit
(C) Prakash
(I Priti

Directions (. Nos. 56 to 58) :

In each of the following questions,
four words have been given, out
of which three are alike in zome
manner, while the fourth one is
different. Choose the word which
is different:

56. (A) Chicken
{B) Fish
{(C) Swan
{0} Crocodile
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a7.

a8,

&0,

()

(H)

(C)

{1}

LAY

(E)

()

(D)

LA

(B)

(C)

(D)

«Curd

Huttor

il

Cheese

Cap

Turban

Helmet

Veil

Explosion

Flood

Hurricane

Avalanche

A song always has :

(A}

(B

(C)

(L)

Word
E-h-u:rl'us
Musician

Tymbal
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What iz found necessarily in mille 7
{A) Cream

{B) Curd

{C) Water

(D) Whitenass

Directions (Q. Nos. 62 and &3} :

Balow in each of the questions
there are given two statemenis I
and IT. These statemonts may be
either independent ¢auses or may
be effects of independent causas or
a common causs, Oné of thess
statements may be tho offect of the
other statements. Read both the
statemints and decide which of the
following anawer choice corroctly
depicts the relationzhip between
these two statements.
Statement [ : A huge truck
overturned on the middle of the
road lest mght
Statement Il : The police haz
eordoned off the entire ares in the
locality this moming for half af the
day.
Murk answer :
(A) If the statemont T is the couse
and statement I1 is its cffcct
(B) If the statement Il iz the
cause and statement [ is its
uffect
(C) If both statements [ and II
are independent causes
(D) If both tho statomonts | and
1T are effects of independent
CAUS0E )

83 ¢ 11APMIZ—A
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63. Statemendt I : Importance of yogn

and exercise is being realised by
all gections of the society.
Statement II : There is an
inereasing awareness about health
in the soctety particularly among
middle aged group of people.
Mark answer :
(A} Fthe statermemt 113 the cause
and statoment IT is its offect
(B) If statement II is the cause
and statement I is its effect
(C) If both stalemonts 1 and I1
. are independent causes
() ¥ hoth the statements I and
IT are offects of the
independent causes
Direotions (Q. Nos, 64 and 65) :
Find out tho alternative which will
replace the guestion muark.

4. Paw :Cat:: Hoof : ?

{A} Lomb

(B) Elephant
{C) Lion
D} Horse



Crrnithologist
Archaoolopist ;7
(A) Islands

(B) Madiators
(C) * Archaeology
(@ Agquatie

If South-East becomes North,
MNorth-Fast becomes West and so
on. What will West become ¥
(A) North-Enst

(B) North-West

() South-Enst

D South-West

Rahul put his timepicce on the
table in such a way that at G P.AL
hour hand pointa to Neorth. Inm
which direction the minute hand
will point at 8,15 P.M. 7

(A} South-East

(B} South

(C} North

(D) Westl

Sachin walks 20 km towards
North. He turns left and walks 40

km. He again turns lefl and walks
20 km. Finally he moves 20 km
after turning to the left. How far
i# he from his starting position 7
Ay 20 km '

(B) 30 km

() 50 km

D 60 km
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70.

T1.

Rehearsal resemiles :

(A) He-learing semething

(B} Echoic mamory

{C} " Encoding

(D) Acoustic interference

What is “chunk" in shorl Lerm

memory 7

(A} A partial
comploto

(B} A szingle orgenized thing or
item

(C) A magic numbar which aids
retrieval

(DY A hierarchy

A notion of task appropriate

processing implies that if you are

preparing for & quiz you should :

(A) Quiz yourself

(B) Gonerste imagos

(C) Device mnomonic strategies

(M) Propare a scribble sheet

Which of the following is not

extraordinary

memaoirists gencrally have in

momory, not

something

common T

{A) The use of imagery

{B) A trancelike state af
~absorplion

{C) Attention to the inner
slructure of tho event

(M) The use of groat effort to
moemoriee important matenisl



Directions (Question Nos. 73 and 74)

In u university the number of difforent employees in different years wae aﬁi

given bolow in the table, Questiona basod on the tablo are givun below the
table with 4 choices. Choose the right choice,

Year | Registrars | Registrars | Exam | Exam |Lecturers | Lecturers| Clorks

New) (Left) |officiala |officinls| MNew) | (Left) | (New) | (Left)

. (New) | {Left)
=00 10 | 580 | .oe 1500 | e 2006 | .
2003 200 120 00 30 1200 500 2500 | 80 |
2000 150 80 w | w0 800 g0 | 2m00 | 700
2409 160 70 550 200 00 9 1700 | 900
12 180 70 60 150 1004 100 1500 | &0 |
73. How many exam officinls were present in 2008 7

T4.

(A
(B) 750
(C)

1560

1310
700

How many lecturers were preseat in 2012 ?

(A) 900
(B) 2400
(C) 3800

) 3300

85 : 114PW0z2—A
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15.

T,

In & certain cods KAMLI is written
as IYEJG. How is MANOJ
written T

(A} EYLMH

(B} NBOPK

() OCrQL

(D) KYMNI

A father tells his son, °I don't care
whether you like it or not, you are
poing to clean your mom " The
content level of moaning in the
father's communication says :
{A) the father has more powér
than his son

the father wanta the room
cleaned

the son has not cleaned his
room in the past and his
father has the authority to
make him clean it

the father is responsive to his
gom's Interests

Fill in the blank with the right
word :

Those who hawve interpersonal
zkills are able to manage their
bahaviour aocial
intoractionn and align their goals
to the goals of others

(1)

(C)

(D)

during

(A) Cohesive

(B) Collaborative
{C)  Collocation
(D} Concessivo

88 : 1APVOZ—A
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TB.

The meaning of the idiom “To hnl
above board™ ia :
To have a good height

To be honest in any business
deal

They have no debiz

(A}
(B}

()

(D) To try to be beautiful

For this question there iz a
sentence of which some parts have
been jumbled up. Rearrange these
parts which are labeled P, @, R and
S to produce the correct sentence.
Choose the proper sequance.

. [ read an advertisement that E-B.IEI:

P : posh, air-conditioned

G : gentleman of taste

R : ar available for

S : fully furnished rosms

The proper seguenca should be :
(A) PQRS

(B}

(C) PSRQ

PSQR

(D} SRPQ



Bl.

Arrange the words given below in
a meaningful sequence :
{1} Presentation

(2) Recommendstion
(3) Arrival

(4) Discussion

(6) Intreduction

{A) (B), (3), (4}, (1), (2)
(B) (3), (6), (4), (2), (1)
(C) €3, (B), (1), (4), (2}
(M (5, (3), (1), (2), (4)

If Jp+Ja=16
Jp = Jq =8, then the value of
plg is :
(A) 3
(B) 48
c) @
o) 16
The highest conumon factor (H.C.F.)

5 25 . 15,
16 12 5

and

05
A

75
16

e

i

55 1 114PW02—A

38

1t 9342 = 27141 thon 'n' is equal
to :

i
@ 5
2
(B) 5
1
© 3
1
%

The value of J48 x J192 x 2256

18

{A) 1320

(B) 1440

(C) 1560

(1) 1680

If ‘x" is a positive real number and

Ji356 _ x
x 2.25°

(A) 6.0

(B) 9.0

(G} 90.0

M 09

Least commeon multiple (L.C.M.) of

5 10 25 I

'8 el '? i ‘

then 'x" is equal to:

(A)
{B}
(C)
(D)

=R 28



87.

2.

The weight of a sand bag 15 40 kg
In a hurry it was weighted as
40.8 kg. The error percentage is :
(A) 1%

(B 0.5%

(C) 15%

(D) 2%

The product of twa positive
numbers is 120 and the sum of
their squares is 289, The difference
between them will be :

Ay =07

(By 02 .

() —14

(D} MNone of the above
fA:B=6:Tand B; C =
g : 8, the value of C : A is ¢

{A)

(1)

)

1o s j5 I

(D)

The

0.525 » 0.525 - 0.275 x 0.275
0.525 - 0.275 L

0.5

0.6

0.4
0.8

value of

(Al
(B)
(Ch
()

S5 : 11APH02—A

40

1.

a3,

(A)

£ 4 2 i :

The correct value of 1
BH—

6+ =

-3

28

135

150

135

ik

26

135

= |
The smallest number which when :
roduced by 7 is divisible by 12, 16, |
18, 21 is : '
(A)
(B)
()

D)

(B}
(C)

(L)

. 4
1015 '
1001
1008

1022



Il the ratio of moan and meodian
of a certoin data is 2 : 3, then the
ratio of its mode and mean is |
{A) 2:5

(B) 5:2

) 3:2

mh 1:2

The mean of the distrbution, in
which the values of X are 1, 4, 3,
....... « it + 1, the frequency of each
belng unity ks :

(A aldn + 16

(B) (0 + 1) (3n + LVG

(C) i+ 1¥2

D (n + 2¥2

In & class of 250 students, 75.5%
tock Fronch and 49.4% took Latin,
How many students took both
Fronch and Latin 7

(A 1895

(B) 1285

(C) &3.0

(D) 187

The mean of 100 items was found
to be 40. I at
calculation two ibems wore wrongly
taken ns 36 and 32 instead of 54
and 34, the corroct mean in :
(A} 388

(B) 389

(C) 401

(D) 40.2

58 LIAFf2—A

4%

| 1040,
the time of |

If the mean of fve observatioras
relx+2xz+dx+4,x+0
iz 15, the mean of first thres
obzervations s :

(A 12

my 13

(Ch 14
(m 15 -

The medianof the following
values

21, 28, 17, 18, 26, 15, 25, 30
is :

Ay 18
0y 22

1Cy 23

i 26

For the set of numbers 2, 2, 4, 5
and 12, which of the following
statements i fruse 9

(A} Mean = Median
(B) Mean > Mode
(C} Mean < Mode

(D) Mode = Medisn



